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General Instructions :
Read the following instructions carefully and follow them :

(1)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 34 questions. All questions are compulsory.

This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

This question paper contains 6 Short Answer Type-II questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

Attempt all parts of a question together.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

Read the following statements carefully : 1

Statement 1 : A consumption function describes the relationship
between consumption and savings.

Statement 2 : Consumption function consists of two components —
autonomous consumption and induced consumption.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Identify which of the following is not one of the merits of fixed exchange
rate system. 1
(A)  Ensures stability in exchange rate

(B)  Possibility of under or over valuation of foreign currency

(C)  Prevents speculations in foreign exchange market

(D)  Coordination of macroeconomic policies becomes convenient

12-58/2/1 P.T.O.
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3.  Ugai-u foh ffaiRaa ® & & WA o YT Sged o Ui @Td & sfee 9et |
CRURIES I
(A) A ¥ T WA g 9t emfsn
(B) faesn & ufwmafa & wrde gro faw
(C) Tordlt 3mfEht ol g fopeft WRA™ 9l & 33 (shares) T T
(D) WRd & TETei it

4. TAfafga fog &1 eegEs stereH v qon fk o &6 gfd & o a@@
forehe &1 =M IS

%F:b_vq :
(A) fraw (B) E13Al sl SAUR
(C) <=l =W (D) T8 Tgrdl

5. Trafaflga oMl @1 emgE® 31ea HifvT
Hg7 1 : Terelt T o1 anfdieh & & TSt wimn uh € 2 # |
HYT2 ; 9Nd § AR qaH, WA % Ak & H e 2 |
feu U seET % A H, Fefaiad § 9 98l faeheq 1 ==A hifve -
(A) e 19T 8 3 HH 2 30 8 |
(B) Y 1379 g I HA 29 7 |
(C) ST 1A 2T AA 7 |
(D) WA 1 3R 2 AT A 7 |
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3. Identify which of the following will appear on the debit side in the
Capital Account of India’s Balance of Payments.

(A)  An Indian sending remittances from England
(B) Investing in assets abroad by Indians
(C) An American company purchasing shares of an Indian company

(D)  Export of spices from India

4. Study the following figure carefully and choose the correct alternative to
fill in the blank :
Alternatives :
(A) Investments (B) Trade of Services
(C)  External Borrowings (D) External Assistance
5. Read the following statements carefully : 1

Statement 1: Economic territory and political frontier of a nation are
one and the same thing.

Statement 2 : American Embassy in India is a part of the economic
territory of India.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D) Both statements 1 and 2 are false.

12-58/2/1 P.T.O.
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6. THIRGd el 1 LIFYAh LTI hITIT
FHo71 : Hgl 9% 9% 8, T8 anunrean fafma & e % w9 # sl fe
T 7 |

HIT2 : Gl H SATATIHRAIN oh Gred TANT hi THEAT i §A T T |

feu U seET % AT H, Hfaiad # 9 w@l faeed w1 = HifST
(A) e 19T g 3 HH 2 30 8 |

(B) Y 1379 g N HA 29 7 |

(C) YT 13 2gH acF B |

(D) I 1 AR 2 gHT 3E 7 |

7. HH ST f5 U Freue feuaEen H, W™ SUHT = T 500 HUS qT

T 39 Y9t = 0-8 7 | At StefeTawen & foTT s=rd wer B |
(feh T WA & for @&t foepew &1 =3m hifse)

(A) 500+ 0-8Y (B) (=) 500 + 0-8Y

(C) 500+ 0-2Y (D) (—) 500 + 0-2Y

8. TimfaRad oMl w1 stewm hifvw : s1fired (A) 3 %o (R) | = feu M@
fomredt o @ @&t fashew gfw -

STHYT (A) : HHE s=d TG (MPS) I Uehad oI 3HIS 8l Tohdl @ |
FRU(R) : AT o THER W, d=d I Bl & |
IEETR I

(A) AR (A) 3 FHROT (R) ST TcF & 3 HR0 (R), TR (A)
gl U] hidl 2 |

(B) AMMRAT (A) IR T (R) I T 8, dAfehd HIUT (R), AHAT (A)
1 T} A T Al B |

(C) IR (A) T B, Wihd hRUT (R) I8 3 |
(D) AMHHAT (A) T 8, AT I (R) T B |
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6. Read the following statements carefully : 1

Statement 1: Money is a commodity which is generally accepted as a

medium of exchange.
Statement 2 : Money solved the problem of double coincidence of wants.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and statement 2 is false.
(B) Statement 1 is false and statement 2 is true.
(C) Both statements 1 and 2 are true.
(D)  Both statements 1 and 2 are false.

7. Suppose in an imaginary economy, autonomous consumption = ¥ 500 crore

and marginal propensity to consume = 0-8. The saving function for the

economy would be

(Choose the correct alternative to fill in the blank) 1
(A) 500+ 0-8Y (B) (=) 500 + 0-8Y
(C) 500+ 02Y (D) (=) 500 + 0-2Y

8. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below : 1

Assertion (A) : The maximum value of Marginal Propensity to Save
(MPS) can be unity.

Reason (R): At the break-even level of income, savings are zero.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

12-58/2/1 P.T.O.
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9. g IRf¥A FIIUT (CRR) & Hed T, 7@ HI 6l UgaH HIfT :

(A)

(B)

(C)

(D)

Ig AT o Gra(s ST ST o Ueh Hivad gfaed 7, ™8 I S ol
H S o I Tohg WSK (3TRId) €9 § T giaT 2 |

g heg 1 deb g i feran ST 2 |

I ITUITSh Sehl YL STEThRT 8! gidl 2 |

g hrold ook g edew H @ v i b v § Tgw T
YT BT 2 |

10. f=fafaa wemi o1 ufeu ; s1fimpem (A) 3t &R (R) | = feu o faswedi o
T gt fashew gfw .

fYFHYT (A) : AT H Ao TR q9 Mo gar 8, 99 yenlv| == 4

TR 3cdTe Th-GER o IR 21 & |

FRU(R) : 3T 1 Hga TR, IcqTGH & Yo USTR &R o q9H AT STHHH
&l Hohdl 2 |

IECTE

(A) AR (A) AR SR (R) qHI HF & 3R HRU (R), AHHAT (A) I

(B)

()

(D)

12-58/2/1
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JAMHAT (A) T B, Afehd HROT (R) T 7 |
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9. Identify the incorrect statement with reference to Cash Reserve Ratio
(CRR) :
(A) It is a certain percentage of demand and time deposit liabilities
that every bank must keep as cash reserves with the Central
Bank.
(B) It is fixed by the Central Bank.
(C) It is not binding on the commercial banks.
(D) It is a tool used by the Central Bank to control the credit creation
in the economy.
10. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : The equilibrium level of income is determined, when

ex-ante spending and ex-ante output are equal.

Reason (R): The equilibrium level of income may or may not be the

same as the full employment level of output.

Alternatives :

(A)

(B)

(C)

(D)

12-58/2/1

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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11.  (F) “YTam e @ § fOrar a9 W@H @ foft aamisHeait oed fhu S

g7
IY TSR0 o 1Y fU T oM i gfed Hifv | 3
Jroqa
(@) “ggr 1 geusE foret e &t 1 Wiedtfed S dehar 8 17
= dehi o G feu MU w1 TmedT a1 wed i | 3
12. = fou 7 Stfwel & YR W, e AN W Thad T 3]G (GNPpe) &
Hed I T hINT : 3
s il (¥ g@'ﬁ')
(i) q9gdl & o 2,000
(ii) EXRIECRIE 700
(iif) == 500
(iv) JAfaaia a9 300
(v) feor gt 1 3qwm 200
(vi) NIEIN] 150
(vii) | Tocen @ urd 3[g |em o™ (=) 50

13. T hicqeh fegaee & fiu, I8 o «ifSw fof @R T 10,000 U i
St gtara Faw Saft | sreferaer # Afafs 3T #1 80% U BIaT § |
AfeTaed H A H glg A Iqeh IIEY IUA =Y H glg HI ke

i | 4

14. (%) “afg gof TR TR R, Afw aegeti H arafgs A ifaw awge &
ek 3CATe & A Bl, A1 399 WGl (Inventory) o1 U
B ghal g |7

7 379 feu U HUq @ TgHd g 2 394 I o gudd § H Ru dfe | 4

AAAT

12-58/2/1 Page 10



i

| Ol fEact]

11. (a) “Accommodating transactions are undertaken to maintain stability
in the Balance of Payments Account.”

Justify the given statement with valid explanation. 3
OR
(b)  “Depreciation of currency may promote exports of a nation.”

Defend or refute the given statement with valid arguments. 3

12. On the basis of the data given below, estimate the value of Gross

National Product at Factor Cost (GNPg() : 3
S.No. Items Amount
(in < crore)
i) Wages and Salaries 2,000
(ii) Rent and Interest 700
(iii) Corporate Tax 500
(iv) Undistributed Profit 300
(v) Consumption of Fixed Capital 200
(vi) Dividend 150
(vii) Net factor income from abroad (=) 50

13. For a hypothetical economy, assume the government increased an
infrastructural investment by ¥ 10,000 crore. 80% of additional income is
consumed in the economy. Estimate the increase in income and the

corresponding increase in consumption expenditure in the economy. 4

14. (a) “If actual demand for final goods falls short of the actual output of
final goods corresponding to full employment level, it may lead to

an unintended accumulation of inventories.”

Do you agree with the given statement ? Give valid reasons in

support of your answer. 4

OR

12-58/2/1 Page 11 P.T.O.



(@) fm=faRea arferst @t qU T | 3T % T 200 S H TR T 3990
%o ol At HifSte |
37 (Y) T (S) 31Ga ITYIT Fghi | HHIT FFT IFIT
(F#HFITH) | (¢ HsT) (APC) (MPS)
0 (=) 50 — —

100 | ...l 1

200 | el 34 |

300 | . 213 |

15. WRAHE iFd deh TR o SR TiFed o JeEH 1 Hewdqul i hidl & |
YR id ok g foht, T 39k s <l <=il il |

16. (%) (1)  HICEW YT L 9 AIcTT T o HeF 3Tl T HINTY |
(i) TR TS & ‘A o YHGAT g3 hl ST hiT |

JreraT
(@) () uE AT o s st rderewar & fou fafaRaa stiee
q&d feR MU %
e % (¥ ;Z?@' 7)
(1) Ex@snie 1,200
(ii) TS =9 3,700
(iii) R e 2,000
(iv) RUT <hl ] 145
(v) ESINGEZE 500
(vi) [EIEER 120
(vii) ISR URIC 1,070
eI ©12 9 USRI =1¢ s TUAT ShifT |

(i)  HIESeh TELE AT TStk IcqTed | 3Tl TIs hifory |

12-58/2/1 Page 12
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(b)  Complete the following table. Construct the consumption function
at ¥ 200 crore level of income.
Income (Y) | Savings (S) | Average Propensity Marginal
(in < crore) | (in Tcrore) | to Consume (APC) | Propensity to Save
(MPS)
0 (=) 50 — —
100 | ...l 1
200 | ...l 34 | L
300 | ...l 213 |
15. Reserve Bank of India undertakes the important function of managing
the government’s banking transactions.
Discuss the above stated function performed by the Reserve Bank of
India. 4
16. (a) () Distinguish between direct tax and indirect tax with the
help of suitable examples. 3
(ii) Explain the ‘redistribution of income’ objective of the
Government Budget. 3
OR
(b)) @) Suppose the following data is presented for an imaginary
economy : 4
S.No. Items Amount
(in < Crore)
(1) Tax Receipts 1,200
(i1) Revenue Expenditure 3,700
(iii) Non-Tax Receipts 2,000
(iv) Recovery of Loans 145
(v) Capital Expenditure 500
(vi) Disinvestment 120
(vii) Interest Payments 1,070
Calculate Revenue Deficit and Fiscal Deficit.
(ii)  Differentiate between public provision and public
production. 2
12-58/2/1 Page 13 P.T.O.
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17. Tmfafed @ #1 emgEs AereH HINT

3cTed 9fsham O IdTed o 9ol g foaw v foly gyr: fEaumest =i
ATT ®Y G JHIIT T Tohd 2 | 39 JHR o IHTT g TR A A9 8d 2
T TS 3T T 3Tehe™ hid 0T S8 & H &1 T Il 3 | ASSmeh 38
STEIdT¢ had g a7 I STl HehcHeh YT ThRIcHeh &l Tehdl B |

30 Tey H, %3 e uritfeufas dqem ghfvaa @ & foe weA
HoI-HgiuT sl T Agw@qul 3Tl & & H ITAN A 1 A <d @ |

e Jod-HaRT A1 q Icdoi W I[ooh et JT HH Icdoid I Ffeel
Tt MBI NE IchSH ol B T <hl IR hidT 8 | hred &, U9 99,

Feh! o, ITMC Y TTEET o A1eqH ¥ AN 39 YR <hl TohlIcHeh SRSl
I U A ATelt A deheiieh hl 3T STER B4 1 GIE <d & |

feu U Ty qeun = T & oum W, ffafad gt % 3o difse

(i)  STerarsTi i gRaTd i |

(i) THRIcH® d ThRIcHS IS o HEY AT TIL hINT |

(iii) To=R @ ARy fF FEA qEa-Hgio w1 K8 T R Tc@Ted ma ST

=M |
Qs @
R i farerra
18. Tofw T F aH, TRd S foesi =R HE . hl BISH hs foRITAL

off |

(T T Wi & fow @&t fohed w1 = i)
(A) I 3T, IR g YI[eoh ohl FdedTedeh i
(B) 9Rd % frafa @ emama W fafesr wemfyran
(C) 9Rd ¥ 39 fava & fofu geh =maR
(D) w1 ffa sfere

12-58/2/1 Page 14
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Read the following text carefully :

Decisions taken by factors of production in the production process
often may affect the stakeholders indirectly. Such impacts at times are
huge but are not accounted for, while estimating national income.
Economists call them as externalities and they can be positive or

negative.

In this regard, many economists suggest carbon pricing as an

important tool to ensure ecological balance.

Carbon pricing tries to control greenhouse gas emissions by either
placing a fee on emitting or offering subsidies on lesser emission.
Through instruments like carbon tax, green cess, eco tax, etc. economists
suggest moving towards greener technology eliminating such negative

externalities.

On the basis of the given text and common understanding, answer the

following questions :

(1) Define externalities.

(ii)  Differentiate between positive and negative externalities.
(iii)  Elaborate how and why carbon pricing should be promoted.

SECTION B
Indian Economic Development

During the British rule, India’s foreign trade had various features except

(Choose the correct alternative to fill in the blank)
(A)  Restrictive policies of commodity production, trade and tariff
(B)  British monopoly over India’s exports and imports
(C)  Free trade from India to the rest of the world

(D) Large export surplus
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% HRU HH o fig SHEen gfg @ @ fEta w0 § gem

T3 T |
(Teh T A & forw T&t foepey 1 =ram hif)
(A) 3Tk gar
B) A frg A
(C) W8 g |EHideh Il
(D) oy sfdfes &
YRRl Toh Heaqul T fRieH 32w &, S T Hf5d 2 |

(feh T WA & fore w2t feampew 1 =r9w hifs)
(i) o SrEfE B suH
(i) ™ F HUR o FHE forawo
(iii) | ST H FehRIcH TR A

forepey
(A)  Hdd () B) (1) AR GD)
(C) (1) 3R (i) (D) (), (i) 3 (iii)

=4 T FaqE i s foem H I5 1978 ¥ @] ok Tu omfde gawi o
@ISt ST Hehell &, STaT |

(Th T 9 = fotw Tl foehew o1 =9 i)
() IR § Hf, foceh = g fraw &= § gur 3% e g
(i) IR Hea-FaRor 61 fifd g T8 off
(i) TR = faeiw snfde &= i ifd +i @ = e o

1%|7=|->_qu :
(A)  had (i) (B)  ohdd (ii)
(C) (1) 3R (i) (D) @), (i) 3R (ii)

12-58/2/1 Page 16
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China was able to control its rapid population growth rate owing
to

(Choose the correct alternative to fill in the blank)
(A)  Economic reforms
(B)  One-Child Policy
(C)  Great Proletarian Cultural Revolution

(D)  Special Economic Zones

Modernization is an important economic planning objective that focuses

on

(Choose the correct alternative to fill in the blank)
(1) Adoption of innovative technology
(ii)  Equal distribution of income and wealth

(iii)  Bringing positive changes in the social outlook

Alternatives :
(A)  Only (1) (B) (1) and (i1)
(C) (1) and (111) (D) (), (1) and (1i1)

The present day rapid industrial growth in China can be traced back to
the economic reforms introduced in 1978, where

(Choose the correct alternative to fill in the blank)

(1) initially reforms were initiated in agriculture, foreign trade and
investment sectors

(i1)  the policy of dual pricing was adopted

(iii)) the Government revoked the policy of Special Economic Zones

Alternatives :
(A)  Only (1) (B)  Only (ii)
(C) () and (1) (D) (1), (i1) and (iii)



22. Tl T U gumett 7, S uTifeufae dqed & gaeifud &,
ST 1@ 9 gfg | Tge gl 7 |
(Teh T W & fore @&t fashed &1 =am Shifso)
(A)  URufEh (B) ifereh
(C) TEEHS (D) & (Multi-layered)

23. Tr=fifiaa oM &1 eHYdesh T=A HifT

FYT 1 ; R, IhEdH o = shl Hifces Gram= Tuaaisti § dl il HEATT
7, TGg 3! Torifeh Saeed foepa fir & |

FYT2 : YA I UIfhE gl 4 Teh sl et & faepfaa 0 W s1ferss o
feam o |

feu U At & ST H, Fefdiad § @ TE foehed o1 wEe i

(A) AT 19T B 3 HH 2 3HH 2 |

(B) e 13T g M FA 2T 2 |

(C) e 13 23HI O 8 |

(D) YT 13 2 THI FEH B |

24, TG Yot AT o GGl Sl Gg=H hivT 9 ik TaH 9 o fqw 98t foshed &1
T HIY |

IEETR

(A) TN R Y 9 foumead | =5
(B) dohdieh W T d I W Y

(C) T WF d JIH W

(D) O W T d JqE T

12-58/2/1 Page 18




22,

23.

24.

12-58/2/1 Page 19 P.T.O.

i

| Ol fEact]

farming is a system that is helpful in restoring, maintaining
and enhancing the ecological balance.

(Choose the correct alternative to fill in the blank)
(A) Conventional (B) Organic
(C)  Chemical (D) Multi-layered

Read the following statements carefully :
Statement 1 : India, Pakistan and China have similar physical
endowments, but totally different political systems.

Statement 2 : Both India and Pakistan laid great emphasis on creating
a large private sector.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

Identify the sources of Human Capital Formation and choose the correct
alternative to fill in the blanks.

Alternatives :

(A)  Expenditure on Health and Expenditure on Schools

(B)  Expenditure on Technology and Expenditure on Knowledge
(C)  Expenditure on Migration and Expenditure on Knowledge
(D) Expenditure on Health and Expenditure on Migration



25.

26.

27.

m
O~

Hiad [ # feu U Hfieni o YR § hicm 11 | T TC %1 I Tl 6l d&l
TgaH SHIfT

HIcTH [ HieTH 11

1. | € 1 ghM 1 wIlereh () | fafra Jaaanft

2. | fAHio Wi (i) | TeRiehes feaTet mergd

3. | Tafaer srfmran (engineer) (1i1) - fnfaa
forepea -

(A)  1-(); 2—(G1); 3—(iii) (B)  1-(i); 2—(1); 3—(ii1)

(C)  1-(ii); 2—(i1); 3—(1) (D) 1-(ii); 2—31); 3—(ii)

3Tfofeh GURT hl ST ST o IUA, UTfehea™ SR § foepd |
TS T YE fohaT 7 |

(Fh T W o ToTT @1 forsheq sl = ShifsTe)
(i) Y & 1 AR Jeei=
Gi) foew @ fadwor w srcafees fsfwan
(iii) Toifep AR

%IW :
(A) (1) IR (3{D) (B) (i) 3 (iii)
(C) @), (i) 3R (iii) (D) () 3N (iid)

fafafaa et =1 ufew : stfirem (A) 3R wrwr (R) | = feu 7o foemedt #

T T oo g

SIFHT (A) : T oh (¢l H, ARA ITIae] USHTREH gl i THET F
g @ B

HRU(R) :  USTTEH Tdfg & acd g, T UHl foufa sef o srefeuasen
arfafes TR Seam fop fomm eiferss ageti ofR Samedi =

IcqTed i H e 7 |
forepey
(A)  AMHAT (A) 3R FHROT (R) T GF & 3 HR0T (R), TR (A) hI
&t ST KT B |

(B) AR (A) IR ST (R) I T 8, dAfehd HRUT (R), AHAT (A)
<1 gl AT TFT Al B |

(C) IYYHI (A) T B, Wihd RO (R) 6 7 |

(D) 3R (A) T 7, Afehd T (R) T 3 |
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27.
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From the type of workers given in Column I, identify the correct nature of

work in Column 1T :

Column 1 Column I1
1. Cement shop owner (i) Regular salaried
2. Construction worker | (ii) | Casual wage workers
3. Civil engineer (iii) | Self-employed
Alternatives :
(A)  1-(1); 2—(1); 3—(1ii) (B)  1-(ii); 2—(1); 3—(ii)
(C)  1-(iii); 2—(ii); 3—@1) (D) 1-(ii); 2—1); 3—(ii)

After the implementation of economic reforms, Pakistan experienced

slowdown of growth due to various reasons including

(Choose the correct alternative to fill in the blank)
(1) Volatile performance of the agriculture sector
(ii))  Over-dependence on remittances from abroad

(iii)  Political instability

Alternatives :
(A) (1) and (ii) (B) (1) and (iii)
(C) (1), (11) and (1i1) (D) (@) and (iii)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below :

Assertion (A) : In the recent past, Indian economy has been facing the
problem of jobless growth.

Reason (R):  Jobless growth refers to a situation where an economy is
able to produce more goods and services without
generating additional employment.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.



m
O~

28. (%) “wF-"gEdl Ty ynfvr g H grires-onfe faem % faw wiedmed
TS Hd 8 17
JY TSR0 o 1Y fU T oM 1 gfee Hifv |

HAAAT

(@) “97d &R 4, HY fouom womelt @ gwfiv &= W Sedl 3Icured
Tnfafafer & ary Tifgd 1 & U s %en 33T 17
FIT 39 feU U hed © 9gAd § 2 394 I o GHYA H hig @ 99 HR

AT |

29. feu v fag hi =amen HifST qen 38 aiifeafass sTuer S99 9 U o fou fereft
Teh WHITA hl e hifs |

e : [HEcTRaa T shacl gEaTieaa qagmieral & o7¢ o4 §ea1 29 % T4 W e |
YT forehTd o 3238 ol UTH K o foq fohdl @ Wififaai =1 Sevie HIfT |
12-58/2/1 Page 22




28. (a)

(b)

i

I=ld
“Self-Help Groups provide stimulus to socio-economic development
in rural areas.”

Justify the given statement with valid explanation. 3

OR

“The Government of India has taken various measures to align the
agricultural marketing system with the growing production
activities in the rural areas.”

Do you agree with the given statement ? Give any two valid

reasons in support of your answer. 3

29. Interpret the given picture and explain any one strategy to control it from

becoming an ecological disaster. 3

Note: The following question is for the Visually Impaired Candidates

only, in lieu of Q. No. 29.

State any two strategies to achieve the objective of sustainable

development. 3

12-58/2/1
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30. (%) Toifesr oMEA & GRE WA $N &F hl TdaH sHH It fheal @ hiehi
61 ==t HIfer |

AAAT

(@) 1991 % iUk W o GUH TR g YR fohU TU T =xaeen o
R ¥ FafYa fohegl gl IGRI 3T W F=t hifrg |

31. “Trell Tsg & wHa ot fmior 9 offde foeh™ & Wed oFTcHesh dgded gl
%l,,
HIT TSR < A1 QU U e i gfse i |

32. = feu MU AfwESl & MYR W, WG o H9 H 3T 9 USHIR & &R

2018 — 2019 H TSFTR 3R Ahet oI 18 (%) & &7 IR

o FHT JoF FET 7 IrEH HIIIT HT 1R
YRa | #7 | TieET | YRa | T | wileed
SN 16 7 24 43 26 41
ITM 30 41 19 25 28 24
qard 54 52 57 32 46 35
FA 100 | 100 100 100 | 100 100

HiT: T179 [a1E REi2 2019 : TRRT 377 W1afde & 39@ Hab, 2019

33. (&) () “orfhar v o wd ° Fafta wd=@t % ®9 0 $RRa 7, S8 96E
sfteh Fgw 2 17
FIT I8 TR/ & H $REd 8 ? 39 3 & 0 §
I SR AT |
(i) YR H SUSTT o 3Aihel o fehal e @di 1 Ioaid i |
(iii) YR H Higer e o Tieaned s hl STavdehdl 6l faear 4
T T |

Tt
@) () gl e < gan A, g & | snfde wfafafeat # @
et & feres Bl 8 17
fau mu wem i gfse Hifv |
(i) T=3d SUSHTHI ol TRHTNG hifve | foret 21 § 3Icqted 9 TSR W)
3ok THTE! hl IJooid shifoT |
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30. (a) Discuss any two factors that lead to stagnating Indian agriculture

i

| Ol fEact]

sector during British rule.

(b)  Discuss any two liberalization measures pertaining to the tax
reforms, introduced by the government, during the economic

OR

reform process of 1991.

31. “There exists a positive correlation between human capital formation and

economic growth of a nation.”

Justify the given statement with valid explanation.

32. On the basis of the data given below, discuss the shift in output and

employment sector-wise, in India and China :

Sectoral share of Employment and GVA (%) in 2018 - 2019

Sector Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

Source : Human Development Report 2019 : Key Indicators of Asia and

Pacific, 2019

33. (a) ()

(i1)

(iii)

(NG

(ii)

12-58/2/1

“Amita is a regular worker in a private firm that employs
twelve hired workers.”

Is she working in the formal/informal sector ? Give valid
reasons in support of your answer.

State any two sources of data on unemployment in India.

Elaborate the need to promote women’s education in India.
OR

“The participation rate of people in economic activities in

rural areas is more than that in urban areas.”

Justify the given statement.

Define disguised unemployment. State its implications on
output and employment in a country.

~
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34.

E%l}
frafTfaa eI s eaHYEeh TERH T ¢
TAAAAT 3T WA hi SfEfeh Hifd 1 geda: 1948 @ s Hifd d@ehed &
ey 4 3R feam o o | 3uw Ui fEa O IEnn & fase@ &l Wiedmed o,
GERAl i 9 [T o o AW H TRl 90 MFgl W s fean m=n
o7 | 39U TaAHh & < foTe weh Afsha @ TH@ YfHept 1 afiehed & 71 off |

AT AR Hifd Tehed, 30 I, 1956 H IUH WAl g0 TES o HHET Tl
T AT | 39 Hehed H GIa foam o foh, “Us 3ew¥ % €U § orefeyaEdn %
UTSIETE] Gl ol STI o TY-H1Y AioHTeg o el faehm 6l ATa=ehdr 2 |
3% 0T g 3Tawa g Toh FHATE T A9 Hgwd o Gt I AT FaA(-oh
ST TATE AT+ &3 o 37E g =T |

A I S Afd-TravTes & 91 N 52 99 W ew i Arawehar Bl 8
(STt et TS & JGH T Tohal 8), 38 I A=k & o I AT =fRT |
AT UST <! T o WH! foeh™ o foIT Teaer IoieriRica wgor er gmm |7

g Fehed TN I 14 AT | afiehd o &
o I AT A TS ureh ooft A T sEw wifta F, foent ufosy @ fasm
sy <6 faey fierd gnft |

o EQ Uft H, TggET B H 9 I fou MY & S IAUR USH % E@Iiied
B | gTaAeh, 30 sl Sam 4 oft wrfierd < 3efte i st |

o Tt gvft 4 3w wft I W st TR B, e I o o T
& <l Teed 9 ITH W R B |

feu U TRy qun T T & R R, Fefalad gt & 3w G

()  “9md TR q, A1 fomE & URiWe aui H SfEife faem d
TSl & o T St fiep W o fezm o |7

3 I o GHAT H SR <d g, 39 YA hl Yfed HI |

(i)  oenfiee Mfd Fhed, 1956 o ATIR TOfy= AR § ITET o AR
S TI@T Teqd i 3R == SIS |
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34.

i

I=ld
Read the following text carefully :

India’s industrial policy since independence has been shaped broadly in
terms of the Industrial Policy Resolution of 1948. It emphasized on the
sole responsibility of the government in the matter of promoting,
assisting and regulating the development of industries in the national
interest. It envisaged an active and dominant role of public sector.

The next Industrial Policy Resolution was placed before the Parliament
by the Prime Minister on 30th April, 1956. It suggested that, “There is a
need for adoption of the socialist pattern of economy as the national
objective, along with the need for planned and rapid development. It
required that all industries of basic and strategic importance, or in public
utility services, should be in the public sector.

Other industries which are essential and require investment on a
massive scale (which only the State could provide) have also to be in the
public sector. Thus, the State has to assume direct responsibility for the
future development of industries.”

This Resolution classifies industries into three categories :

. The first category given in Schedule A, consists of industries the
future development of which will be the exclusive responsibility of
the State.

o In the second category given in Schedule B, are industries which

will be progressively State-owned. However, in them, private
enterprise will also be expected to participate.

o The third category comprises all the remaining industries, the
further development of which will be left to the initiative and
enterprise of the private sector.

On the basis of the given text and common understanding, answer the
following questions :

(1) “The Government of India, in the initial years of economic
development, emphasized on a greater role of the public sector in
the industrial development.”

Justify the statement, giving reasons in support of your answer.

(11)  Owutline and discuss the classification of industries into various
categories as per Industrial Policy Resolution, 1956.
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